CHAPTER 5 – Algebra 2 – Selected Answers “Evens”

p.1
Section 5.1 (p.xxxxx)

Oral Ex/ 1a. 4  b. 3  2a. 1  b. -1  3a. 5  b. 1  4a. 0  b. 8  5. 3t & 
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, uv & 2uv, 4 & -7

7. 6xy & -xy & 
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, -4xz & 4zx, -xyz & 2xyz   8. p2q & 6qp2 & -8p2q, 

-3pq3 & 4pq3 & q3p, 2pq & pq/2  9. 2x2 + 11x – 7, 2  10. –x3 – 4x2 + 2x + 1, 3

11. -7x6 + 5x4 – 3x2 + 1, 6  12. 3x2 + 7xz – 5z2, 2  13. ux3 – u3x2 + ux – u2, 5

14. -2x3y + 4x2y2 + xy3 – y4, 4  15a. 4x + 9  b. -2x + 5  16a. 7t – 2  b. –t + 12 

17a. r2 + r + 1  b. –r2 + 5r – 11  18a. 2u2 – 1  b. -12u + 15
Written Exercises

2. x3 + 7x2 – 2x + 3, 3  4. 5x2 + 3x – 7, 2  6. 2x3y + 4x2y2 – 3xy3, 5
8. 2x2yz2, 5  10a. 4u – 1  b. 2u + 15  12a. 3n2 – n + 6  b. n2 – n + 4 

14a. -2w2  b. 2w3 + 2w – 2  16a. 4a2 + ab  b. 4a2 + 5ab – 2b2 18. 15y2 + 7y – 3 

20. -25  22. -9dm + 22dn  24. 24a2 – ab + 30b2  26. a = 2, b = -2, c = 4, d = -1
Section 4.2 (p.172)

Oral Ex/1. y5  2. c4  3. a6  4. 16k4  5. x6  6. –x6  7. z3+n  8. z3n  9. p6q2  10. b6  11. r2k  12. 
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13. F  14. F  15. T, 1  16. T, 3  17. F  18. F  19. t4 – 3t2  20. u2v + uv2  21. p3 – 2p2q 

22. 4y4z – 4y2z3  23. -3s5 – 6s3t3  24. -2x4y2 + 2x2y4  25. um  26. a2n  27. x2k
Written Exercises

2. 5r6  4. t12  6. 4p4q4  8. -6r4s5  10. 8c6d9  12. x8y4z12  14. –c6 16. 72x12y11 18. 3x5 – 2x4 + x3
20. p4q3 – 4p2q4  22. tk 24. y3p  26. s6k  28. xk+2 – xk+1 + xk  30. s2m+n – sm  

32. x3h – x2h – k + xh + 2k  34. 
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 n factors by the definition of an integer factor.
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 n addends using the 1st Law of Exponents (xa)(xb) = xa+b
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 Transitive Property of Equality (or by the Substitution Principle)
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  by the 3rd Law of Exponents
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  by the Commutative Property of Multiplication
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p.2
Section 4.3 (p.175)
Oral Ex/ 1. x2 + 10x + 24  2. y2 + 4y – 21  3. 6m2 + 17m + 5  4. 2n2 + 13n – 24  
5. 6 – 5p – 6p2  6. 3 – 14w + 8w2  7. 3x2 + 7xy + 2y2  8. 2c2 – 3cd – 5d2 

9. 6p2 – 5pq + q2  10. x2 + 6x + 9  11. 4y2 + 20y + 25  12. 9m2 + 6mn + n2  

13. a2 – 4a + 4  14. 16z2 – 24z + 9  15. 16c2 – d2  16. k2 – 1  17. 9r2 – 25  18. p2 – 4pq + 4q2
Written Exercises

2. 6x2 – 5x – 6  4. 3r2 – 14r + 8  6. 16k2 – 40k + 25  8. 4s2 – 49  10. 30z2 + 11z – 30  

12. -25t2 + 90t – 81  14. 5h2 – 13hk + 6k2  16. 10r2 + 17rs – 6s2  18. p4 – 4q4  

20. 4z4 – 20z2 + 25  22. x4 – 9x2  24. m3n – 3m2n2 + 2mn3  26. 2t3 – 7t2 + 5t – 6 

28. z3 + z2 – 2z + 12  30. k6 – 2k4 – 5x2 + 6  32. y4 – y3 – y + 1  34. 3s4 + 2s3t – 9s2t2 + 4t4
36. x4n – 2x2nyn + y2n  38. x2n – 1  40. a3 + 3a2b + 3ab2 + b3  42. a3 – b3  44. a4 – b4  

46. x4 – 2x2y2 + y4  48. x4 + 64  50. 9  52. 4  54. -3  56. 3, -3  
Section 4.4 (p.181)

Oral Ex/ 1. 1,2,3,4,6,12  2. 1,3,5,15  3. 1,2,13,26  4. 1,5,7,35  5. 2
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5  10. 72  11. 2
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72  12. 2
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32  13. 4, 24  14. 5, 60  15. 1, 99  16. 13, 26

17. ab, a2b2  18. x2, 2x3y  19. 2st, 12rs2t2  20. 2uv2, 4u2v2w  21. 5xy, 300x2y2z2  

22. ar2, 24a2r3s3  23. 31, 37, 41, 43, 47  24. Let b=k1a and c = k2b. Then c=k2(k1a)=k1k2a
Written Exercises

 2. 2
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11  4. 22
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29  8. 33
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13  10. 15, 225  12. 105, 1575  14. 28, 5880
16. 1, 1260  18. 7x2, 245x3y  20. 26rs, 156r2s2t  22. 14abc, 490a2b2c2  24. 11xyz, 132x2y2z2 26. 100abc, 1200a3b3c3  28. 18xy4  30. 6 and 28  32. (m + 1)2  34. 2 relatively prime integers have a GCF of 1. So if they’re divided by ‘1’, they remain the same relatively prime integers.  36. Indirect Proof: Given h, k, m, n integers such that hm – kn = 1. Assume m and n are not relatively prime. Then there is an integer (say p), p > 1 such that m/p  and n/p are integers (say y and z). Now substitute into our given equation for m and n (using m = py and n = pz) to get: h(py) – k(pz) = p(hy – kz) = 1 By the closure property for integers, hy – kz is, along with p, an integer. Also, hy – kz  is the reciprocal of p. Now, only two integers have reciprocals which are also integers, 1 and -1. Contradiction with the given that p is greater than 1. Thus, reject the assumption that m and n are not relatively prime. Conclusion: m and n are relatively prime.
Section 4.5 (p.185)

Oral Ex/ 1. 3z(z + 2)  2. 11x2(1 – 3x)  3. 3ay(3y – 5a)  4. 6r2s(3s2 + 2r2)  5. (x – 4)(x + 4)
6. (3t – 1)(3t + 1)  7. (2a – z)(2a + z)  8. (x – 4)2  9. (h + 3)2  10. (u2 – 2v)(u2 + 2v) 

11. (5y – 1)2  12. (2s + 1)2  13. x(x – 1)(x + 1)  14. 4hk(k + 4h)  15. t(t – 6)2  16. xy(y – 1)2
17. (a + b)(x + 1)  18. (a – b)(x + 1)  19. 25  20. 6, -6  21. 20, -20
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p.3

Written Exercises (Section 4.5 continued)
2. 2x2y(3y + 4x)  4. (z – 6)2  6. (11x + 1)(11x – 1)  8. (3s – 4)2  10. (2h – 9)(2h + 9)
12. (4x + 5y)2  14. (3x2 – 4z)(3x2 + 4z)  16. pq(p – 1)(p + 1)  18. (2p + 1)(4p2 – 2p + 1)

20. 3x2y(y – 3)(y2 + 3y + 9)  22. (u – 2)(v – 1)  24. (u + 2)(v – 1)  26. (y – 1)(x – 2)

28. (2a – 1)(2b – 1)  30. (z + 1 – w)(z + 1 + w)  32. (x – y – 2)(x + y + 2)  34. (2u2v + 1)2
36. 2x2(5 – x)(25 + 5x + x2)  38. (p – q)(p + q)(p2 + q2)  

40. (2 – z)(4 + 2z + z2)(2 + z)(4 – 2z + z2)  42. (a – b)(a + b + 1)  44. 2x(x2 + 3y2) 

46. (u – v)(u2 + v2)  48. 8ab(a2 + b2)  50. (xn – 1)2  52. (xn + yn)(x2n – xnyn + y2n)

54. x2n(xn – yn)2  56. (x2 – 2x + 2)(x2 + 2x + 2)  58. (x2 + 2y2 – 2xy)(x2 + 2y2 + 2xy)

Section 4.6 (p.190)

Oral Ex/ 1. (x + 4)(x – 12)  2. (2x – 5)(2x + 3)  3. (x + 2)(x + 1)  4. (t + 10)(t + 1)

5. (u – 1)(u + 8)  6. (y + 5)(y – 1)  7. (z + 4)(z – 3)  8. (r – 2)(r + 1)  9. prime  10. not prime

11. not prime  12. prime  13. not  14. not  15. x + 5  16. 2x – 3  

Written Exercises

2. (t + 2)(t + 7)  4. (u – 1)(u – 9)  6. (y – 3)(y – 2)  8. (h – 4)(h – 6)  10. prime 

12. (t + 5)(t – 3)  14. (s – 9)(s + 5)  16. (5v – 1)(v + 1)  18. –(x + 7)(x – 3) or (7 + x)(3 – x) 

20. (p + 6q)(p – 4q)  22. prime  24. (3x – 5)(x – 1)  26. (2r + 1)(2r + 3)  28. (s + t)(6s – 5t)

30. (2u + 7v)(u – 3v)  32. (y – 3)(y – 5)  34. (5u – 2)2  36. 2(2r2 + 8rs – 5s2)  38. prime

40. 3u(3v + u)(9v2 – 3uv + u2)  42. (x – 2y)(x2 + 2xy + 4y2)(x + 2y)(x2 – 2xy + 4y2)

44. (z – 3)(z + 3)(z – 1)(z + 1) 46a. x + 4  b. (x – 4)(x + 4)(x – 2)  48a. y(y – 2) 
48b. y(y – 2)(y + 2)(y2 + 2y + 4)  50a. 1  b. (x + y)(x2 – xy + y2)(x2 + y2)

52. x2 + (k + 1)x + k = (x + k)(x + 1) for all integers, k.

54. (an – bn)(a2n + anbn + b2n) (an + bn)(a2n – anbn + b2n)

56. (xn – 1)2(xn + 1)2(x2n + 1)2  58. 8x(x – 2)(x + 2)  

Section 4.7 (p.196)

Oral Ex/ 1. 3,7  2. -2,5  3. 1,-2,3  4. 0,3,-4  5. 0,2  6. 0,5  7. 2  8. -3  9. 5,-5  10. ½ , - ½ 

11. 4  12. 4,-4  13. 3/2,-2  14. 0,3,-1  15. 0,2(double root)  16. 0(double root),2

17. 0,1(double root or zero)  18. 2(double root),3(double root)

Written Exercises

2. -2,5  4. ½ ,0(double root)  6. 0,2,-1(double root)  8. -2,6  10. 1,0(double root)  12. 9,0,3

14. -1/2,1/3  16. -1/10,1  18. 1/3, 1/2   20. -1,9  22. 4,9  24. ½ ,2  26. 2,-2(double root) 

28. -2,1,-1(double root)  30. -2,-1,1,2  32. -2(d.r.),0(d.r.),2(d.r.)  34. 0,9(double root)

36. ½ ,5  38. – ½ ,2  40. 1,2,3  42. 1(triple root),2(triple root)  44. -2,-1,1,2  46. 1,2,3

48. – ½ , ½ ,-2,2  50. -3(t.r.),3(t.r.)  52. –a,b  54. b,2,-2  56. x = 0, y = 0, or x = -y

Section 4.8 (p.199)

Problems  2. -7 or 8  4. -9, -7  or  7, 9  6. 9 by 24 ft  8. 8 mi and 15 mi  10. 10 cm  12. 9 ft high and 12 ft base  14. 8 by 16 cm  16. 100 ft, 5 s  18. 2.5 s  20. 10 s  22. 300  24. 5 by 11 or 5.5 by 10 m  26. Let n, n + 2, n + 4 be consecutive odd integers. By the Pythagorean Theorem: n2 + (n + 2)2 = (n + 4)2 or n2 + n2 + 4n + 4 = n2 + 8n + 16 or n2 – 4n – 12 = 0. Factoring: (n – 6)(n + 2) = 0 gets n = 6 or -2. Contradiction since n is odd. Hence, the sides cannot be consecutive odd integers.  28. 6 m by 9 m  30. 20 yd x 50 yd
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Section 4.9 (p.204)

Oral Ex/ 1. e  2. c  3. a  4. f  5. d  6. b  7. Zero works. If x 
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0, then x2 > 0 (nope!). Hence, x = 0 is the only solution. 8. If x 
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0, then x2 > 0 (they work) and 02 = 0 
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9. 
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. Hence there is no (real) solution. Empty Set.

10. 
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, so by the Transitive Property of Order, x2 > -1.

11. If ab > 0 and b > 0 (here, b = x2 + 1 > 0), then a > 0.  Hence, x > 0.

12. If ab < 0 and b > 0 (here, b = x2 + 1 > 0), then a < 0 or x – 2 < 0 equivalent to x < 2.

13. -1 < x < 0  14. x < 0 or x > 3  15. 
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Written Exercises

2. t < -1 or t > 2  4. 
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  8. –4 < s < 4 10. z < -2 or x > 3  12. 
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  16. 3  18. -3 < t < 3/2  20. t < 9 and t
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22. -5 < z < -2 or x > 0  [image: image54.jpg]
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Chapter 4 Review (p.207)

2. b  4. c  6. c  8. a  10. c  12. a  14. c  16. c  18. b  

Chapter 4 Test (p.208)

1. -7x2 + 12  2. 2x3 + x2y + y3  3. -4p10q9  4. 3x3y2 – 6x2y3  5. 2x2 + ax – 6a2  6. 4rs3 – r3 

7. 63, 4410  8. 4b2, 48a2b4  9. (x – 2)2(x + 2)2  10. (x – 1)(y – 2)  11. (5s – 6)(s – 2) 

12. a(6a2 – 7ab – 2b2)  13. 1/3, 3  14. -2 (double root),2(double root)  15. 12 cm

16. 
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17. -2 < x < 0 or x >2 [image: image62.jpg]



Preparing for College Entrance Exams (p.209)

2. C  4. B  6. D









_1175231142.unknown

_1175232180.unknown

_1175242267.unknown

_1175242784.unknown

_1175242842.unknown

_1175242894.unknown

_1175242964.unknown

_1175244944.unknown

_1175242927.unknown

_1175242859.unknown

_1175242804.unknown

_1175242367.unknown

_1175242481.unknown

_1175242340.unknown

_1175232219.unknown

_1175232233.unknown

_1175242087.unknown

_1175232229.unknown

_1175232205.unknown

_1175232213.unknown

_1175232187.unknown

_1175231927.unknown

_1175231954.unknown

_1175231963.unknown

_1175231943.unknown

_1175231900.unknown

_1175231906.unknown

_1175231174.unknown

_1175230194.unknown

_1175230945.unknown

_1175231049.unknown

_1175231092.unknown

_1175230982.unknown

_1175230805.unknown

_1175230876.unknown

_1175230616.unknown

_1175229441.unknown

_1175229477.unknown

_1175229527.unknown

_1175229464.unknown

_1175229354.unknown

_1175229393.unknown

_1175229334.unknown

